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Instructions : (1) All questions are compulsory.

1 (@)
(b)
1 @
®)
2 (@)
(b)
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(2) Marks are denoted on right side.

What is correlation ? Explain the method of Scatter
diagram.
For given data find rank correlation coefficient.

x:[40 46|54 60|70 (80|82|85[85)90]|95
45145(50 43[40 |75(55|72(65[42(70

OR
Explain Spearman's rank correlation coefficient method.

For given data find Karl Pearson's coefficient of
correlation and probable error.

x| 11 (12 [ 13 (14 (15|16 |17 | 18 |19 |20
30129(29(25]|24|24(24(29|1.8|15

What is regression ? Explain difference between
regression and correlation.

From the following seven days data find both
regression equations and correlation coefficient :

Y (x-52)=46, ¥ (¥-52)=9, Y (x-52)(y-52)=1095,

3 (x-52)7 =3086, 3 (y-52)° =483

OR

Write the properties of regression coefficient.

Two regression equations are x+2y—-5=0 and
2x+3y—8=0. The variance of x is 12. Then find both

the regression coefficients, correlation coefficient and
standard deviation of y.
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3 (@) In usual notations prove that, 7
P(A g B) = P(A) . P(B/A)

(b) In box A there are 10 white and 3 red balls. In box B 8
there are 3 white and 5 red balls. Now from box A three
balls are taken randomly and put in to box B. Now from
box B one ball taken randomly, find the probability that
taken ball is white.

OR

3 (@) If A and B are independent events then prove that A' 7
and B' are also independent events.

(b) A bag contains 2 white and 3 black balls. 8
Four persons A, B, C, D take one ball one by one
and does not replace it. A person receives white ball
should get Rs. 200. Then obtain their expected value
of received amount.

4 (a) Write the properties and uses of Binomial Distribution. 7

(b) Five unbiased coins tossed 96 times at random. Getting 8
number 1, 2 or 3 considers as success. Then find the
expected frequency for different numbers of success.

OR
4 (a) Write the properties and uses of Normal Distribution. 7

(b) For a Normal distribution 31% values are less than 45 8
and 92% values are less than 64. Then find mean and
standard deviation of the distribution.
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